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Math 8 Homework Assignment Section 1.2 Multiplying Integers with Area Model:

1. Multiply each of the following without a calculator:

a) 8x10 b) 9x11 c) 3x12 d) 4x11
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2. If each\h'tﬂe-sqnfre has a side length of 1, then what is the area of each of the following shapes?
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3. Multiply each of the following using the area model:

a) 9x21 b) 6x18 c) 8x29
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des are integer lengths, then

4. ldentify one strategy that you can use whenever you mul';iph}r a number with 9, 99@9&nd 9999. Explain
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how many ways can this rectangle be
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At possible area?
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